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octave:3> s2=[15/4,0,0,0,0,0,0,0;0,7/4,1,1,0,0,0,08;0,1,7/4,1,0,0,0,0;0,1,1,7/4,08,0,0,08;0,0,0,0,7/4,1,1,0;0,08,0,0,1,7/4,1,0;0,08,0,0,1,1,7/4,0;8,
©,0,0,0,0,0,15/4]

52 =
3.750088 @.a0aaa @.aa0aa @.aaaaa @.aaaaa @.aaaaa @.aaaaa @.aaaaa
@,08000 1.75000 1.00000 1.00000 o.08000 o.08000 o.00800 o.00800
@,08000 1.00000 1.750080 1.00000 o.08000 o.08000 o.00800 o.00800
@,08000 1.00000 1.00000 1.75000 o.08000 o.08000 o.00800 o.00800
@,08000 o.,08000 o.08000 o.08000 1.75000 1.00000 1.00800 o.00800
@,08000 o.,08000 o.08000 o.08000 1.00000 1.75000 1.00800 o.00800
@,08000 o.,08000 o.08000 o.08000 1.00000 1.00000 1.75000 o.00800
@.00088 @.00088 @.00088 @.00088 @.00088 @.0008a8 @.0008a 3.75008

octave:4> [EVECT,EvAL]=eig(sS2)

EVECT =
@,08000 0.00000 -0.00008 -0,00800 o.08000 o.08000 1.00800 o.00800
B.40825 0.00000 -0.00000 B.70711 8.57735 o.08000 o.00800 o.00800
B.40825 0.080000 -0.080088 -8,70F711 8.57735 o.08000 o.00800 o.00800
-0.81650 0.00000 -0.00000 o.08000 8.57735 o.08000 o.00800 o.00800
-0.08000 0.40825 B.70711 o.08000 o.08000 8.57735 o.00800 o.00800
-0.08000 0.40825 -0.70711 o.08000 o.08000 8.57735 o.00800 o.00800

-8.08080 -0.81630 0.000080 0.00000 0.00000 B.37735 0.00000 0.00000
-0.080080 -0.00008 0.o0008 0.o00008 0.o00008 0.o00008 0.o00808 l.00808

EVAL =

Diagonal Matrix

@.73008 2] 2] 2] 2] 2] 2] 2]
2] B.75008 2] 2] 2] 2] 2] 2]
2] 2] B.75008 2] 2] 2] 2] 2]
2] 2] 2] B.75808 2] 2] 2] 2]
&] &] &] &] 3.750068 &] &] &]
2] 2] 2] 2] 2] 3.75008 2] 2]
2] 2] 2] 2] 2] 2] 3.75088 2]
2] 2] 2] 2] 2] 2] 2] 3.75008

octave:S= 1/sqrt(e)

ans = ©0.40825

octave:6> -0,81650/0.40825
ans = -2

octave: 7> sqri(2)

ans = 1.4142

octave:8= 1/sqri(2)

ans = B8.78711

octave:9» 1/8.57735A2

ans = 3.08008

octave:1e= ||



